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1. Use the scales to help you complete the following.
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2. Each recipe has a total of 1kg of ingredients. Fill in the missing weights.

L (b)§ : ()
D ; ~_gcherry

tomatoes

0-3kg chicken

g rice

(a) 100g butter
0-5kg flour

1
g raisins %kg carrots 7 kg salad leaves
%kg broccoli

d E : 3 3
L) %kg beef : (e) 0-4kg flour g g couscous §
200g onions {-;kg eggs :§ 0-1kg cheese :

g peas : 150g sugar 2 kg tomatoes

i %kg potatoes : ~ g butter 0-3kg salmon

Challengeé  Write the names of objects that weigh between:
0g—50g | 50g — 100g | 2009 — 500g | 700g — 900g | Tkg — 2kg
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